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Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Depreciable Machinery purchased in 2003-04 was sold for `1,25,000 on 3-4-2014. The WDV as on 1-4-2014 was `45,000. Calculate taxable capital gain.

2. Calculate taxable capital gain. An asset was purchased in the year 2007-08 for `3,04,500. During the previous year it was sold for `5,00,000. Expenses in connection with the transfer of sale is `1,000. ( CII: 2007-08 is 551 and 2014-15 is 1024)

3. Mr. Kumar furnishes the following particulars of income for the previous year.  Calculate income from other sources. He received `2,50,000 as stake money. He has spent `50,000 for maintenance of horse races.

4. From the following particulars calculate income from other sources

a. Salary as M.P.`16,000 per month.

b. Winning from lottery (net amount) `70,000.

c. Pass book has credit of `15,000 towards which source is not explained.

5. Calculate the taxable income from the following case:

a. Long term capital loss (-)
` 4,50,000
b. Short term capital gain (+) 
`1,35,000
c. Business loss (-)


`1,00,000
6. Compute the gross total income from the particulars given below:

House property (let) 


`30,000

Loss from self occupied house
`16,000
Income from let out house 

`20,000
7. Write short notes on Deduction u/s 80U.

8. Calculate deduction u/s 80C from the following:

a. Contribution to RPF



 `15,000

b. Contribution towards NSC – VII issue 
 `11,000

9. Compute the amount of deduction u/s 80GG. 


Total income 


`6,12,300

 
Payment of rent 


`80,000


Deduction u/s 80C to 80U - NIL

10. Compute the tax liability of Mr. Ranjith for the assessment year 2015 – 16. If his total income is       

  `1,64,371.

11. X’s total income is `4,60,000. Compute his tax liability for the assessment year 2015 -16.

12. What is an AOP?
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Mr.Nalli sells jewellery on 25th August 2014 for `15,00,000. Cost of the jewellery on 25th June 1993 was `3,00,000. Brokerage and commission paid for transfer was `10,000. From the earned capital gain Mr.Nalli purchased a residential house on 12th January 2015 for `3,25,000. calcullate taxable capital gains. ( CII: 1993-94:244; 2014-15:1024)

14. Compute income from the other sources from the particulars given below:









                             
    `
a. Interest on deposits with a company


 
   
 10,000

b. University remuneration on working as examiner

   6,000

c. Royalty for writing books





 60,000

(He claims to have spend `20,000 on writing these books)

d. Dividend declared by R & co.




   
   3,000

e. Family pension received





  
 36,000

f. Interest from post office savings bank account


 50,000

15. The following are the particulars of income of Mr.Kumar for the previous year ended 31st March   

  2015.









     `

Loss from house property


  6,000


Cloth Business income


70,000


Loss in speculation Business

  3,200


Short term Capital Gains


  1,500


Long term Capital Loss


21,000

Compute the gross total income of Mr. Kumar setting off the different losses against other incomes and state losses, which could be carried forward.

16. What are the provisions regarding clubbing of minor child?

17. Mr.Shaji previous years Gross Total Income is ` 4,50,000. He has made the following donations.  

 Calculate his net income.

a. Jawaharlal Nehru Memorial fund `12,000

b. Rajiv Gandhi Foundation `8,000

c. Africa Fund `15,000

d. Indira Gandhi Memorial Fund `14,000

18. List out the deduction U/S 80D.

19. What are the restrictions imposed u/s 40 (b) of Income tax Act 1961on remuneration and interest 
  payable to partners of a firm?
SECTION – C     (2 × 15 = 30 Marks)
Answer any TWO questions

20. Calculate capital gain from the following particulars given by Mr.Kannadasan for the previous 
 year, if CII for 2014-15 is 1024 and 1981-82 is 100.


Cost of residential house `3,25,000 (FMV as on 1-4-1981)


Date of purchase 1-10-1979.


Date of sale 1-10-2014.


Sale value `40,00,000.


Cost of improvement `50,000


Date of improvement 1-10-2002 (CII:447)


Stamp duty and legal charges `50,000.


Investment in Bonds on 15th January 2015 which qualifies for u/s 54EC 
`50,000.

The assessee has purchased another residential house within one year for `2,00,000 before the date of sale.

21. Calculate income from other sources from the following 

a. Winning from lotteries (net amount) `21,000.

b. Income from letting of building and furniture `12,500. Expenses towards repairs of furniture `500 and depreciation towards building `1,000. The assessee owns the building.

c. Dividend declared by an Indian company `8,000.

d. `5,000 received as interest on Government securities.

e. `4,000  received as interest on debentures of local authority.

f. `3,000 received as interest on debentures from AB Ltd.(non-listed)

g. 7% UP Government Securities `14,00,000.

h. Director fees `7,500.

i. Gift from father –in- Law `50,000.

j. Interest on 7 years Post office NSC @ 7% `10,000.

22. Explain in detail regarding the deduction available to an assessee U/S 80C,80G and 80GG.

23. Calculate Tax Liability from the following information given by Mr. Amit Sharma.

a. He was receiving a salary of `8,000 per month, apart from conveyance allowance of `300 per month ( `150 p.m. actually spent).

b. He had an house whose GAV is `1,50,000, Municipal Tax `3,000 out of which `1,500 is paid by the tenant.

c. His income from other sources comes to `4,50,000.

d. He has contributed `40,000 to PPF.

e. He paid `5,000 towards medical insurance premium.

**********



[P.T.O.]











PAGE  
1

